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QUESTION 1

Which is a driving business need for SOA?

A. Automate and optimize processes

B. Security, governance and infrastructure

C. Governance, infrastructure and connectivity

D. Interoperability, standards and application integration

E. High availability of hardware, operational systems and services

Correct Answer: A

QUESTION 2
Which two statements describe characteristics of SOA?
A. Multiple business units host the same service to ensure maximum reuse and availability.

B. Maximum reuse is achieved by ensuring services are generic so that the same service serves many different
business tasks.

C. Existing APIs are exposed over new technologies such as Web services and Enterprise Service Buses (ESB) to
increase business flexibility and agility.

D. Programming by contract ensures the service consumer can be unaware of the implementation details of the service
provider facilitating loose coupling.

E. Through layered abstraction over the implementation and runtime details, it is possible to provide software resources
that give the right balance between reuse and specificity.

Correct Answer: DE

QUESTION 3

When services are identified based on isolated applications rather than the business, which
problem may result?

A. Rogue Services

B. Duplicate Services

C. Shelfware Services

D. Application Services

Correct Answer: B
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QUESTION 4

What can have the largest impact on the performance of an SOA?
A. Service granularity

B. Use of open standards

C. Service version management

D. Business monitoring of Key Performance Indicators (KPIs)

Correct Answer: A

QUESTION 5

Which might cause a challenge to prioritizing, defining and funding services in SOA?
A. Services that support multiple projects and/or lines of business

B. Services that need to consider non-disruptive roll-out of changes

C. Services that are based on standards to allow for interoperability

D. Service requesters that are independent of the service implementation

Correct Answer: A
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